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[lepBbIN MecsL | 506. %
KAPTOYKA CTPYKTYPbI HA UI'O 20 1 I. cnTaem
b 8 AOeHbI'n
Yicm: 300*10%*11= 330 py®6.
20 Yicm: 250*10%*11= 275 py6.

| Yicm: 200%10%*11= 220 py®6.
50/300 50/250 50/200 50/150 50/100 y1 cm: 150*10%*11= 165 py6.

1= Yicm: 100*10%*11= 110 py6.
HauyucneHo:
3a J10: 50*15%*11= 82,5 py®.

3a 1u4Hyro epynny 1100

NIO-506. pyo6.
OO -1050 6.

Panr: YyacmHuk 3 cm.

Mmoeo: 1.182,5
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BTopoun mecsiy, | 506. %

1 cunTaem
20 .
OeHbrn

KAPTOYKA CTPYKTYPbI HA daee

ycm 8

Yuy3cm.: 1050*10%*11 =1.155 py®6.
50 Yu.3cm.: 1050 *10%*11 =1.155 py®6.
Yuy.3cm.: 1050 *10%*11 =1.155 py®6.
Yuy.3cm.: 1050 *10%*11 =1.155 py®6.
1050 1050 1050 1050 1050 Yu.3cm.: 1050 *10%*11 =1.155 py6.

HauucneHo:
3a J10: 50*25%*11= 137,5 py6.
3a V iu4HOU 2pynnbl: 5.775

pyo6.

OO - 5.3006.
PaHr: Pykoeodumerib.

Mmozo: 5.912,5

E¥6'




[lepBbLIN MecsL, | 100 6. %
KAPTOUYKA CTPYKTYPbI HA UI'O 20 1 L. cHanTaem
b 8 OCHbI'n
Y2cm: 600*%15%*11= 990 py6.
2 Y2cm: 500%15%*11= 825 py®6.

| Yicm: 400%20%*11= 880 py®6.
100/600 100/500 1oo/4oo 100/300 100/200 y1 cm: 300*20%*11= 660 py6.

A Yicm: 200*20%*11= 440 pye6.
HauuncneHo:
3a J10: 100*25%*11= 275 py6.

3a 1u4Hyro epynny 3795

1O - 100 6. py6.
O - 2000 6.
OO0 -2100 6.
PaHnr: Pykoeodumerib. moeo : 4.070
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BTopoun mecsaud | 1006. %

KAPTOYKA CTPYKTYPbI HA dec 20 1 L.

ycm 8

100

2100 2100 2100 2100 2100

Pryyy

OO - 10.000 6.
PaHr: Bea.Pykoeodumersb.

cunTaem
OeHbrn

Pyk.1: 2100*(5%+18%) *11 =5313 py®6.
Pyk.2: 2100*(5% +18%) *11 =5313 py®6.
Pyk.3: 2100*(5% +18%) *11 =5313 py®6.
Pyk.4: 2100*(5% +18%) *11 =5313 py®6.
Pyk.5: 2100*(5% +18%) *11 =5313 py®6.

HauncneHo:

3a J1O: 100%25%*11= 275 py®6.
3a V s1iudHoU 2pynnbl: 26.565
py®é.

Mmoezo : 26.840

E¥6'




[lepBbIN MecsAL | 2006. %
KAPTOUYKA CTPYKTYPbI HA UI'O 20 1 L. cHnTaem
b 3 NeHbN
Y3cm: 1200%10%*11= 1.320 py6
a0 Y3cm: 1000*10%*11= 1.100 py6

 Y2cm: 800*15%*11= 1.320 py6
200/1200 200/1000 200/800 zoo/soo 200/400 yZCm: 600*15%*11= 990 py6.

i Yicm: 400%20%*11= 880 pye6.
HauucneHo:
3a J10: 200%25%*11= 550 py6.

3a fu4Hyro 2pynny 5.610 py¢
N0 -2006.
OO -4.200 6.
PaHr: Pykogodumerib.

Mmoezo : 6.160

e




BTopou mecsil | 2006. %
CHYHUTaeMm
KAPTOUYKA CTPYKTYPbI HA aee 20 1 L. eHbLIMM
ycm 8 A
Pyk.1: 4200*%(5% +20%) *11 = 11.550 pye6.
200 Pyk.2: 4200%(5% +20%) *11 = 11.550 pye6.
Pyk.3: 4200%(5% +20%) *11 = 11.550 pye6.
Pyk.4: 4200%(5% +20%) *11 = 11.550 pye6.
4200 4200 4200 4200 4200 Pyk.5: 4200%(5% +20%) *11 = 11.550 pye6.
HauuncneHo:
3a J1O: 200%25%*11= 550 py®6.
3a V 1uyHoU 2pynnbi: 57.750
pyo6.
OO0 - 21.2006.
PaHr: Bea.Pykoeodumersb.
Mmozo: 58.300

E¥6'




